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9. RS232 PC ¢ 74T
®RFULE 3.5 mm -+ (B 3-15)% 7 RS232 PC ¢ Fa v, ey LA 16 o, 7 % 20 % = g
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Meter PC
(9W " D" Connector)
Center PiNu..oveveceeeiiieeenn, Pin 4
(3.5 mm jack plug)
Ground/shield...........cccccu....... Pin 2——

2.2 K
resistor
Pin 5
16 = e im #0200 T FL R T

D15 D14 D13 D12 DIl D10 D9 D8 D7 D6 D5 D4 D3 D2 D1 DO

F BFHcF Ao TR

D15 Start Word, 02
D14 4
D13 1
D12, D11 |Annunciator for Display
Q=38 mQ =B1 u2 =F5
D10 Polarity O = Positive 1 = Negative
D9 Decimal Point(DP), position from right to the left

0=NoDP,1=1DP,2=2DP,3=3DP

D8 to D1 |Display reading, D1 = LSD, D8 = MSD For example :
If the display reading is 1234, then D8 to
D1 is: 00001234

DO End Word, 0D
RS232 FORMAT : 9600, N, 8, 1

Baud rate 9600

Parity No parity

Data bit no. 8 Data bits

Stop bit 1 Stop bit
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